A Z 0l & AFE B M A

20243 =0l ok LB H TR 1t

S TLOrE D)
HE: THLOHH %2 M2

el Tk ord EEE))
- _ o toH & S Off Ak oY =
SN T BR() - AIBAY - BaS B by RS2
THHORE f 5,562,835 4,625,235 937,600
= 7,019
Al 6.762
3 5,549,054
TR 1,471,081 1,135,188 335,843
2 7.019
Al 6,762
3 1,457,250
THet oFe 625,748 385,971 239,777
WS +&53 = 13,670 25,105 11,435
201 Yer2g 12,170 17,620 N5,450
01 AFR221t] 10,850 8,000 2,850
20l 10,850 8,000 2,850
1)OrE 22| HIE HIF 50,0002 <602 3,000
DS K& AMI HE 50002452009 1,000
NHLHSYD 2 A2E L APSE J0f
250,00024* 122 3,000
NOHREHMADTHAAS| FHA g
70,00021% 112453 3,850
02 3Z2%H 1,320 9,620 18,300
20/ 4 1,320 9,620 18,300
D228 AL J12e3
55,0002 *2CH* 12 1,320
203 HREEM| 1,500 1,500 0
03 AIFEZHREZIL] 1,500 1,500
20il4 1,500 1,500
DS SIIB(BA) 2€3]
250,00024%43] 1,000
D22 B} 23l 250,00024%23] 500
orNest s 13,920 12,920 1,000
201 Ler2g| 11,620 10,620 1,000
01 AlR22It] 4,800 4,800 0
20/ 4 4,800 4,800 0
NOHEFEZS o 222 M
4002% 1,000+ 123 4,800
03 A2 6,820 5,820 1,000
20l 6.820 5,820 1,000
DIHOHMEHY DS HAISE
2,00024+8024x23] 320
DIHIRCH] S22 NS LAIR
250,00024%23] 500
DRI ATFOANS AT 24|
600.00021%103] 6.000
203 HREEM| 1,300 1,300
03 AIFZA2FZIL| 1,300 1,300
2004 1,300 1,300
1OHEEZOl o SAF 2HIX} 223
250,00024%43] 1,000
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Nil=seirSini;

S THHOHE! S92 Ml
9l THLH OFF (= EE))
SN T BR() - AIBAY - BaS B SR RS2
NASYHE 22 L s 20X WS
5,00021* 1502 *23]+50% 750
302 OIFL M2 &= 1,950 1,950
02 QIZICITHOHE SRESEAZ 1,950 1,950
S0l & 1,950 1,950
NESHa Al 8,000 * 1502 %22 x50% 1,200
ESST=ra =] 5000 * 1502 22 x50% 750
M CHEl & ordate| At 444490 306,314 138,176
201 L823d| 407,690 281,714 125,976
01 AtR22ldl 386,700 257,000 129,700
=0 A 386,700 257,000 129,700
1)8t € 21204 100, 000203 2,000
)22 0MIA YED SX2Y
68,040,000 54 A 340,200
NES UH] R4 U AIE 2F
15,00024%3007H 4,500
1)SH Tibl HlA=E S04
200, 0002 *2007H A 40,000
02 2323l 20,990 24,714 A3,724
=0 A 20,990 24,714 A3,724
NESEIs% S22 20,150
2)1s8 J|=d 150,00020 %714 4 10,650
2) =% g 950,000 %70 A 6,650
2)1s8 ADIEY 150, 00024770 2 1,050
2) 1= ADIEE 3|28 Wil
300, 000 x6 I A~ 1,800
1Nepfasst &) & =& 22
12,0002*7 4 26 504
NACIEEDSY S4l 22
4,0002%7 ) A 128 336
203 ER=&d| 800 800
03 AIF=RIHRFLIY| 800 800
20/ &t 800 800
NEY L S ARFEX 243G
800,000& 800
302 OIFL M2 &= 24,000 19,800 4,200
02 QIZICITHHE SRESEAZ 24,000 19,800 4,200
=0 A 24,000 19,800 4,200
1S Q0tAIA HWE D 29 SAR XA
20,0002 *6F*5 240 24,000
401 AlIEHIZLS0HH] 12,000 4,000 8,000
01 Al&HI 12,000 4,000 8,000
=0 A 12,000 4,000 8,000
1NEZEHs9 41 2,000,000 %60 A 12,000
MLtorM At Stal 29 14,378 0 14,378
201 B3| 11,228 11,228
01 AtR2eldl 10,040 10,040
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2A:

THEFQHM 1t

[}

M TUiHl 242 D
CHol: THLH OFA (CH &2l
S BB SI(E) - HRAR - BAS e SR M
CIETETETEY 58,463 56, 165 2,29
201 LEre | 33,783 33.8% 52
01 AlRZ2itl 14,601 14,743 52
204 14,691 14,743 AB2
NolgRns 1R S 1,400
1,400,000
12129 AIHDS SIE 2%
13,291,002 13,291
02 2229 19,002 19,002 0
20/ 4 19,002 19,002 0
NDSEXN L& 2B
(46024% 10,0002 ) +(2,53021+2, 000 ) 9.660
1)2HIY XD Q2(L2DX)
20421%18,000 3,672
1)2HIY AXDX LS(NSER)
32021+ 18,000% 5,760
203 P2 2,330 2,330 0
03 ANHERGSEAL| 2,330 2,330 0
20/ 4 2,330 2,330 0
Dol 2a U DS APEXA
2,330,000 2,330
301 LEEE= 22,350 20,000 2,350
TETNTREE 22,350 20,000 2,350
204 22,350 20,000 2,350
1)0IIRINE 2AF =& 22 350,000 22,350
D NE 2o 15,700 28,544 12,844
= 5,189
Al 3,154
=) 7,357
201 LEre | 7.3 7.814 A2
=2 2,69
Al 1,400
=) 3,287
01 AFRZ21H] 7,392 7.814 422
=2 2,69
Al 1,400
=) 3,287
204 7,302 7.814 422
=2 2,69
Al 1,400
=) 3,287
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A THCHE
X‘Iil—l: XHtEHt” E’,l: X-H_J
Ciel:_pistei=atme) (Ero): ®R)
S BB BI(E) - HRAR - BAS B S Mt
1)0ISSel AXC S24AH 633,000 683
= 683
1)1 AIOIHWS SIE
6,709,0008! 6,709
= 2,013
Al 1,409
- 3,287
301 EBAES 8,308 20,730 12,422
= 2,493
Al 1,745
- 4,070
11 SHAAHIXIRZ2 5,072 16,275 211,203
= 1,522
Al 1,065
- 2,485
S0 A 5,072 16,275 211,203
= 1,522
Al 1,065
- 2,485
1)21e el ¥A 1,158,000 1,158
= 348
Al 243
- 567
NI NSE 2A = 3,914,000 3,914
= 1,174
Al 822
- 1,918
14 JIEIE A3 3,236 4,455 21,219
= 971
Al 680
- 1,585
=0 A 3,236 4,455 21,219
= 971
Al 680
- 1,585
NIIEXel S M2us 3,236,000 3,236
= 971
Al 680
- 1,585
=0IF0 ool 4 =d 39,943 1,900 38,043
= 570
Al 399
- 38,974
201 L823d| 39,943 1,900 38,043
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A THCHE
S THHOHH 92 [
el E%?—%EE = (&2 &)
SN T BR() - AIBAY - BaS B SR RS2
= 570
Al 399
- 38,974
01 AtR22ldl 39,943 1,900 38,043
= 570
Al 399
- 38,974
S0l & 39,943 1,900 38,043
= 570
Al 399
- 38,974
ool g &3 2272
1,900,000 1,900
= 570
Al 399
- 931
1)1 JI2D| HY = 15,559,000 15,559
1)eiere Jt2J| el 5,5002%3, 40804 18,744
NS 018 o2 WAl
5,500 68074 3,740
olErel AlZEH| 2el 54,962 6,705 48,257
Al 2,327
- 52,635
201 LBr23Y| 54,962 6,705 48,257
Al 2,327
- 52,635
01 AtR22ldl 54,962 6,705 48,257
Al 2,327
- 52,635
S0l & 54,962 6,705 48,257
Al 2,327
- 52,635
1)CHIIAIE HEXIE 9,801
2) OHHEX| H 33,0002 %1644 5,412
Q)R EX T 16,50024%2467H 4,059
2)2==Ald QHHEXI B 330,000 330
1) QAR L HIA22X oige= 30,840
2)019 = A9 50,0002 %5144 25,700
2)0igee I} 10,0002 %514 K 5,140
1)SHe20 &yl 01 &8
1,400,000& 1,400
NEUIMSH(0S2) NFHIIE HMel
5,000,000 5,000
1) ISR EH] 200 &2 7,757
2) B XIHIOHE 50,0002 38K 1,900
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A THCHE
S THHOHH 92 [
el E%%’—%EE = (&2 &)
S - "B ERI(EI) - HRAR - BAS B SR MmEL
Al 570
- 1,330
2)XFZHT 700,000 +4 04 2,800
Al 840
- 1,960
2)SSHRINE 30,000 +867H 2,580
Al 774
- 1,806
2)EX=E2 60,0002 K 120
Al 36
- 84
2)SHETYS 13,0002 %204 26
Al 8
- 18
2)NENEE 13,0002 %7H 91
Al 27
- 64
2)c = QIYLIEH| WH| 240,000 240
Al 72
- 168
NEAMSEHI| 2 (A 23))
82,0002%23] 164
OISR0H et 8= 25 5,068 31,249 A6, 181
= 1,260
Al 882
- 2,926
201 B3| 5,068 31,249 N26,181
= 1,260
Al 882
- 2,926
1 At22eld] 5,068 31,249 N26,181
= 1,260
Al 882
- 2,926
S0l & 5,068 31,249 A6, 181
= 1,260
Al 882
- 2,926
DX SAUR SHMetE Y=H(=2
AMHIEZX) 4,223
2) =0 42,00021%1007H 4,200
= 1,260
Al 882
- 2,058
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S THERA
2 THHOHE 9E K

Cel: Qlgre|SEkale| (Crel: &)
SN T BR() - AIBAY - BaS B SR RS2
DESEESENE) 4,200,0002%0.54% 23
1)IISXI0 QIS YR =0 845
2)e=a 42,0002 *207H 840
PES= S 840, 0002/ %0 54% 5
HIAHE 2 9,600 5,800 3,800
201 LB 9,100 5,300 3,800
NIRRT 9,100 5,300 3,800
204 9,100 5,300 3,800
1HILESAMZHIE JMIZ 1,000,000 4822 4,000
NEXMS 22X DS M=
1,000,000& 1,000
1)E228, SIS AREE =S
1,300,000& 1,300
1020244 Qlgte| A2 XI& At M=
2,800,000 2,800
203 AREZIH| 500 500
03 AIBEXIAREZIY]| 500 500
204 500 500
NEXSE L SRR & AR
500,000 500
NEEEFEREE 661,547 618,854 42,693
203 AREZIH| 670 670 0
N EEEEESL 670 670 0
204 670 670 0
12222 gRFX 670,000 670
301 YBHEA2 660,877 618,184 42,693
10 A 2ReaBA2 660,877 618, 184 42,693
204 660,877 618, 184 42,693
1S3 511,872,0002 511,872
NS 2 2ot
3,000 *69L*20 2 * 122 49,680
1)SAH| 7,0002*502H*20 L * 122 84,000
1)Il=d ¥ Os44a| 309, 84021 %33 10,225
1) B0l 512 30,0002 * 170 5,100
ol 2 Hu=Epse st 2,716,899 2,650,047 66,852
ZCHMHaH ol 2 22l 66,924 37,940 28,984
2R oM 2 EEe 66,924 37,940 28,984
201 L2 62,236 35,940 26,29
01 At22eld| 62,236 35,940 26,29
S0f| Ak 62,236 35,940 26,29
NSELEI} ALE 15,000,000 %13] 15,000
NEASEEY 7.000,0004%23] 14,000
NZ2L=EX S H2WSH|
160,000+ 120 19,200
1) QM B AR MR} RS
60,0002* 1 60
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EAM THeorE It

2 THoll & THH=ERsE st
ol SCHIHGH olgr & 22| (&2 &)
SN T BR() - AIBAY - BaS B SR RS2
T)OFM 2RI A ML w=h| 220,00024% 1% 220
1) AR AR WKH| 300,000+ 12 300
N2gE o 228 7
5,000 *6005 3,000
NAAOINEARHY QX § EEE HE
1,000,000& 1,000
NAEEAHO 2 500,000&*12& 6,000
1) 2SI (AIZFEERRIL DI HI)
8,000 & x2H*x202 * 12 *90% 3,456
202 44| 2,688 0 2,688
01 =LHO{H] 2,688 0 2,683
S0l & 2,688 0 2,688
1ET0EI(AZHEE R DA
20,0003 x2B* 14 =12 *40% 2,688
203 RF&H| 2,000 2,000
03 AIBFRHRFEIH| 2,000 2,000
20/ &t 2,000 2,000
1)SUMaH ol gL=7 2,000,000 2,000
-dE57 SE2HHH 29 2,649,975 2,612,107 37,868
-dE7 SEZRMHEEH &858 29 1,603,975 2,062,107 A458,132
201 LEt23| 1,583,975 1,503,904 80,071
01 AtR2eldl 1,146,467 1,122,640 23,827
S0l & 1,146,467 1,122,640 23,827
NEAN Qs At Boteld =4
100,000 8 *43] 3,200
NYAFEHRIDD| SYARS AR 49
100,000 *5% =23 1,000
1SE2HNHEHSYE AREE 7
150,000 %43 600
11218l BT 7Y U K|
200,000 *63] 1,200
1)CCTV 2tHIg 29|
4,673,638 *x12H*12& 673,004
1ZHIAE CCTV SERAES
38,832,000+ 12 465,984
1)=80| 228 7Y 1,479
2)22 EW ItERIX 187,000 3K 561
2)E8H £14 IIEL|X| 143,00024%1H 143
2)2e & Su = 275,000+ 1K 275
2)JIEt ARE 500,00024* 1} 500
02 2323l 437,508 381,264 56,244
S0l & 437,508 381,264 56,244
1CCTV HIIAMBZ 10,0008 1, 3920 A+ 122 167,040
1)CCTV SAIIB(HE3IH)
(96.,80021%((2155] &1+ 122 )+(3031 &6 ) 270,468
+(110,000&*303] )
203 RF&H| 3,000 3,000 0
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= A
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THLFORE T

iy s

Mol & M= Zet

Ce: L= SEANMEH 29 (o) ®el)
SN T BR() - AIBAY - BaS B SR RS2
03 AIRFERIARFZIH]| 3,000 3,000
2 0jl A 3,000 3,000
NES2HLH 2 R
3,000,0002 3,000
401 AlZHIZ 20| 17,000 39,000 A22,000
01 Al&H 17,000 39,000 A22,000
204 17,000 39,000 £22,000
1)CCTV 2125 74| 8,500, 00020 +2I0 A 17,000
SHHS CCTV AR Y 1,046,000 550,000 496,000
201 2Bty 2,000 0 2,000
01 AtR2:2IH 2,000 0 2,000
S0f| Ak 2,000 0 2,000
1)EX S S M= 2,000,000 2,000
401 AlEHIZ S0 1,044,000 550,000 494,000
01 Al&H 1,044,000 550,000 494,000
S0f| Ak 1,044,000 550,000 494,000
1)gHE TV A7 &X
25,000,0002 %304 A 750,000
1)QIZXISE TV Al &x
100,000, 0002 * 14! 100,000
1) 2 CCTV 0™ AxX
5,000, 0002 %474 A 20,000
1)== CCTV M &X 3,600,000 15CH 54,000
1)2Z3t0e2h EXl 2,000, 00024+60CH 120,000
HE2AAH| 409,905 0 409,905
ol2A 2 H| (T HorM 1) 337,221 0 337,221
OIS AH|(THLQt M ArEtAl) 210,79 0 210,796
101 Q124H| 210,796 0 210,796
02 JIEFRES 210,796 0 210,796
S0f| Ak 210,79 0 210,796
1) THLHORE AFSEAL AIZHM BRI DI HI(OHS
. 3BAI2H) 199,771
2)0|2¢0s 1,900,000 6% * 123 136,800
2)EAS 48,550, 0002 *6%+6L*35/40%1.025 15,676
2)Jt =g 60,0002 *62* 123 4,320
2)HAHZA| 140, 000262 * 123 10,080
2) It A
1,900,00024%0.86%0.84%1/30%1/7% 126 A 26 4,942
P)ESnI=I=E=
9,860 *30A12t6H*123] 21,298
)NERsE J|luRuz
1,900,000 %0 . %62 * 123 1,232
2)AABEE J|ARUZ
1,900, 00024%3 . 545%+6 2 * 1224573, 000 5,423
1) E 2B X 11,025
2)AZHSERIAD R OF2
175,0002 6 * (35A1 2H/40A| 2H) * 122 11,025
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M T Bt
M HHEZI A
Che: Ol 2AY| (KN 1) (Ete: ®&)
_ ] . o 1 0 pr ~
S B SR(S) - HRAY - BAS B by MimE
olA2HY|(HA - BA2[AL) 126,425 0 126,425
101 2124H| 126,425 126,425
02 JIEHA S 126,425 126,425
DAIRHIERHILIIN 22 (35A12H) 126,425
2)J|l=ds 3,737, 250328+ 122 89,694
2)8HE
58,026,000 *8%+*(35/40) 2 *1.025 8,327
2)J15+¢ 120,0002 28+ 12& 2,880
2)ZHZAH| 140,000 2122 3,360
222 R4
10, 162&*1.025+2H+30A| 2t 12 7,500
2)SDIE &
3,737,250 *84%*86%+*1/30%1/7+140A1 2H+2H
3,600
D)Sanpag
2,015, 7003 +84%x5%* 122 x2H 2,032
2)E&8=2 218,800 %2+ 123 5,252
2) A 22|
180,000 *(35/40) Al 2H+2H+ 128 3,780
JlE2Zd|(Merd ) 72,684 0 72,684
J12Z|(XHHerA I 72,684 0 72,684
201 LBt2ZH| 31,368 0 31,368
01 AtR2eldl 31,368 0 31,368
SHSOIA 31,368 0 31,368
202 o4t 38,136 0 38,136
01 =LHObI 38,136 0 38,136
SH=0IA 38,136 0 38,136
203 BRF&H| 3,180 0 3,180
04 FN2ILRFAHI 3,180 0 3,180
SH=0IA 3,180 0 3,180
MNWFES (M HorM ) 965,000 840,000 125,000
LHEHeHKIE 965,000 840,000 125,000
Met2e| D138 ME2 965,000 840,000 125,000
02 JISdEES 965,000 840,000 125,000
01 JI2NES 965,000 840,000 125,000
S0l & 965,000 840,000 125,000
Nx2eDI2 = 965,000,000& 965,000
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